
Una$partícula$ de$masa$!$está$ atada,$mediante$ una$ cuerda$de$ largo$!,$ al$ extremo$de$
una$barra$también$de$ largo$!,$como$se$muestra$en$ la$ figura.$ Inicialmente,$estando$la$
barra$y$ la$ cuerda$en$posición$horizontal$ con$ la$partícula$a$una$distancia$2!$$de$!,$ la$
barra$ se$ hace$ girar$ en$ torno$ a$!$para$ producir$ en$ la$ partícula$ un$ movimiento$ con$
aceleración$constante$igual$a$$! 3$.$$
$
Despreciando$todo$tipo$de$roces,$determine:$
$

a) Una$expresión$para$el$ángulo$!$en$función$del$tiempo.$No$se$pide$la$velocidad$
angular$de$la$barra.$
$

b) La$tensión$de$la$cuerda$en$función$del$ángulo$!$y$la$reacción$normal$en$función$
del$ángulo$!$

$
c) Si$la$tensión$máxima$que$soporta$la$cuerda$es$!!Á! = !" 6,$qué$ocurre$

primero:$se$corta$la$cuerda$o$la$partícula$se$despega$del$suelo?$Justifique$su$
respuesta.$En$qué$instante$ocurre$esta$situación?$
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Solución	
  Problema	
  3:	
  
	
  
	
  
Por	
  condición	
  de	
  enunciado	
  (equilibrio)	
   la	
  posición	
  vertical	
  de	
  ambas	
  partículas	
  se	
  
mantiene	
   constante,	
   y	
   la	
   partícula	
   de	
   masa	
   𝑚   describe	
   un	
   movimiento	
  
circunferencial	
  de	
  radio	
  𝐿 sen𝛽  	
  y	
  velocidad	
  angular	
  𝜔.	
  
	
  
	
  
Diagramas	
  de	
  cuerpo	
  libre:	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
Ecuaciones	
  del	
  movimiento:	
  
	
  
Para	
  𝑚:	
  
𝑇 cos𝛽 −𝑚𝑔 = 0                                                                                                        (1)	
  
𝑇 sen𝛽 = 𝑚𝜔!  𝐿 sen𝛽 =>       𝑇 = 𝑚𝜔!  𝐿                (2)	
  
	
  
Para	
  𝜆𝑚:	
  
𝑇 − 𝜆𝑚𝑔 = 0                                                                                                                        (3)	
  
	
  
	
  
de	
  (3)	
  	
  	
  𝑇 = 𝜆𝑚𝑔	
  	
  	
  	
  	
  	
  
	
  
𝑇	
  en	
  (1)	
  =>	
  	
  	
  𝜆𝑚𝑔 cos𝛽 −𝑚𝑔 = 0	
  	
  	
  	
  	
  =>	
  	
  	
  	
  𝜆 cos𝛽 = 1	
  	
  	
  	
  =>	
  	
  	
  	
  	
  cos𝛽 = 1/𝜆	
  

	
  𝑇	
  en	
  (2)	
  =>	
  	
  	
  𝜆𝑚𝑔 =   𝑚𝜔!  𝐿  	
  	
  	
  =>	
  	
  	
  	
    𝜔 = 𝜆𝑔/𝐿  	
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